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INSTITUTE

Read Right To Write Right

General Science & Ability
MOCK -2024

Question 1 is compulsory. Answer any two from part-11.

Part-| MARKS: 20
1. Which one can be considered as the unit of distance?

(A) Foot Path (B) Heavy year (C) Light Year (D) None of these

2. Which one is not a planet?
(A) Earth (B) Venus (C) Moon (D) None of these

3. In which direction does the Earth rotate on its axis?
(A) East to West (B) West to East (C) North to South (D) None of these

4. Combining of two non-metal atoms by sharing one or more pairs of electron is called?
(A) lonic Bond (B) Covalent Bond (C) Metal Bond (D) None of these

5. Which part of a body will be affected mainly by Fluoride Pollution?
(A) Brain (B) Liver (C) Teeth (D) None of these

6. How can we symbolically write the Ozone Gas?
(A) O2 (B) O3 (C) CO2 (D) None of these

7. Which of the following is not an electromagnetic wave?
(A) Sound waves (B) Radio waves (C) Light waves (D) None of these

8. For what terminology is the abbreviation GPS being used globally?
(A) Geo Pakistan System (B) Global Positioning System (C) Google Path System (D) None of these

9. Plotting of the vibrations caused by an earthquake on a paper is called?
(A) Photograph (B) Earthograph (C) Seismograph (D) None of these

10. Which method may not be considered as a food preservation method?
(A) Freezing (B) Irradiation (C) Sleeping (D) None of these



Part-11| MARKS: 40

Q 2: (a) What do you know power house of the cell. (5)
(b) Differentiate between renewable and non-renewable sources of energy. Briefly explain

wind energy, solar energy and biofuels. (5)
(c) What is a Earthquake? What is the role of tectonic plates in Turkiye Earthquake?

Explain briefly. (5)
(d) Discuss various methods used for food preservation. (5) (20)

Q 3: (a) Discuss Vaccination, types of Vaccines, their side-effects and effectiveness. (5)
(b) Define smog. Differentiate between industrial and urban smog. (5)
(c) Write a note on comparison of plant and animal cell. (5)
(d) What is Solid Waste? Discuss the mechanism of least preferred step of Solid Waste

Management. (5) (20)

Q4:(a) Define the term Water Pollution. What indicators are used to measure the quality of water? (5)
(b) Write a note on solar and lunar eclipse. (5)
(c) Discuss the possible negative effects that Pakistan may face due to Global Warming and

Climate Change. What steps may be helpful to control the climate change? (5)
(d) What are the bad tropospheric reactions. Discuss their effects on human health. (5) (20)

Q5:(a) What do you understand by the term Remote Sensing? Write its basic principle. Give its

Important applications. (5)
(b)Write note on Vitamin C and Vitamin B Complex. (5)
(c) Differentiate between natural and artificial satellites. How artificial satellite are causing

Space pollution. (5)
(d) Explain Artificial Intelligence. What do you understand by the term Robotics? (5) (20)



Attempt only two section Total Marks 40:
Section (A)

15

I—

I

At 9:00 am train T left the train station and two hours later train S lefts the same station on
a parallel track. If train T averaged 60 Km/hour and train S averaged 75 Km/hour until S
passed T. at what time did S pass T?(5)

A plot of land is in the shape of a trapezium whose dimensions are given in the figure below:

e Z m B
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Hence the perimeter of the field is? (5)

3.

If $ 4,500 was invested in a bond fund when the price per share was $ 9 and $ 3,000 was
invested in the fund when the price per share was $ 10, what was the average (Arithmetic
Mean) price per share purchased?(5)

P,Q,R,S,T,U and V are seven friends and are sitting in a circle facing the center of circle

a) V issecond to the left of S and is the neighbor of T and U

b) Sisnotneighborof Rand T

c) Pisneighborof Q and R

What is the position of R. (5)
Sectlon (B)

Ricardo lives 4 Km due west of Pat’s house. Ann lives 6 Km due north of Pat, s house and 4
Km due west of David’s house. What is the straight line distance in Kilometers from
Ricardo’s house to David’s house?(5)

If an equilateral triangle and a square have the same perimeter, what is the ratio of the
length of the sides of the equilateral triangle to the lengths of the sides of the square?(5)
What are the Supplementary and Complementary angles also define the different
Quadrants on X and Y Coordinates with examples.(5)

In a mixture 60 liters, the ratio of milk and water 2:1. If this ratio is to be 1:2, then the
guantity of water to be further added is? (5)

Sectlon (C)

10.

11.

12.

Today is Ahmad’s 12th birthday and his father‘s 40th birthday. How many years from
today will Ahmad’s father be twice as old as Ahmad is at that time? (5)

If 3 men or 6 boys can do a work in 20 days. How long will it take 6 men and 8 boys to

complete the same amount of work? (5)

If U= {1, 2, 3 4, 5 6, 7, 8 A = {4 5 6} and B = {5 6, 8}

then prove the De Morgan’s Law of Union (A U B)' = A’ N B' and Intersection
(ANB)=A"UB" (5)

An accurate clock shows 8 o’clock? In the morning, through how many degrees will the

hour hand rotates when the clock shows 2 o’clock in the afternoon? (5)
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